10

11

12

13

14

15

16

17

18

19

20

21

22

Clamping knobs 2

BT.

iNox I
eramizss| | ROHS -4
STEEL -30°

Fluted grip knobs

Technopolymer

MATERIAL
Polyamide based (PA) technopolymer, black colour, matte finish.

STANDARD EXECUTION

- BT-B:: brass boss, threaded blind hole.

- BT-SST: AISI 303 stainless steel boss, threaded blind hole.

- BT-FP: brass boss, threaded pass-through hole.

- BT-SST-FP: AISI 303 stainless steel, threaded pass-through hole.

- BT-p:zinc-plated steel threaded stud, chamfered flat end according
to UNI947 :1SO 4753 (see Technical data on page ).

- BT-SST-p: AISI 303 stainless steel threaded stud, chamfered flat
end according to UNI 947 : ISO 4753 (see Technical data on page ).

BT-B BT-FP ELESA Original design
BT-SST BT-SST-FP
h h
ol e
;
03 = =
l2
L
BT-B
Code Description D de#+ L di d2 2 h §2
6310 BILI2BM3 12 M3 115 95 6 4 6 4
6311 BTI2B-M4 12 M4 115 95 6 4 6 3
6312 BTI2BM5 12 M5 115 95 6 4 6 3
6320 BTI6BM3 16 M3 13 11 9 5 6 4
6321 BTI6BM4 16 M4 13 11 9 5 6 4
6322 BTI6BM5 16 M5 13 11 9 5 6 4
6323 BTI6B-M6 16 M6 13 11 9 5 6 4 [ poog
6521 BT20B-M5 20 M5 15 115 11 6 6 5
6522 BT20B-M6 20 M6 15 115 11 6 6 5 Code Description D dé L di d2 d3 Iz h §2
6611 BT25B-M5 26 M5 19 16 15 8 6 8 6331 BIl6FP-M4 16 M4 13 1l 9 5 5 10 4
6621 BT25B-M6 26 M6 19 16 15 8 8 9 6336 BTI6FP-M5 16 M5 13 11 9 6 5 10 4
6720 BT32B-M6 32 M6 22 17 21 9 10 15 6530 BT20FP-M5 20 M5 15 11511 6 6 12 5
6721 BT32B-M8 32 M8 22 17 21 9 10 15 6531 BT20FP-M6 20 M6 15 11511 7 6 12 5
6722 BT32B-MIO 32 MO 22 17 21 9 10 14 6631 BT25FP-M6 26 M6 19 16 15 7 8 14 9
6811 BT40B-M8 40 M8 27 19 25 13 13 23 6636 BT25FP-M8 26 M8 19 16 15 9 8 14 9
6813 BT40B-MIO 40 MO 27 19 25 13 13 22 6730 BT32FP-M6 32 M6 22 17 21 7 9 16 19
6863 BT50B-MIO 50 M1O 285 22 31 135 13 30 6731 BT32FP-M8 32 M8 22 17 21 10 9 16 17
6864  BT.50B-MI2 50 MI2 285 22 31 135 13 29 6732 BT32FP-MIO 32 MI022 17 21 11 9 16 14
6803 BT40FP-MIO 40 M10 27 19 25 14 13 20 26
BTSST STAINLESS sTEEL | 6805  BT40FP-MI2 40 M2 27 19 25 14 13 20 26
— 6850 BT50FP-MI0 50 M10285 22 31 14 135 20 34
Code Description D dw L o d I _h 60| |gg51  BT50FP-MI2 50 MI2285 22 31 14 135 20 33
106320 BT.16SSIM3 16 M3 13 11 9 5 6 3
106321 BT16-SSTM4 16 M4 13 11 9 5 6 4
106322 BT16-SSTM5 16 M5 13 11 9 5 6 3 | BISSTFP STAINLESS STEEL
106521 BT20-SSTM5 20 M5 15 115 11 6 6 6 Code Description D d L ci d2 d3s 2 h §2
106522 BT20-SSTM6 20 M6 15 115 11 6 6 5 106530 BT.20-SST-FP-M5 20 M5 15 115 11 6 6 12 6
106621 BT.25-SST-M6 26 M6 19 16 15 8 8 9 106631 BT.25-SST-FP-M6 26 M6 19 16 15 7 8 14 9
106721 BT.32-SSTM8 32 M8 22 17 21 9 10 14| |106731 BT.32-SST-FP-M8 32 M8 22 17 21 10 9 16 17

aa
1 4/2024 €elesa+Ganter

ELESA and GANTER models all rights reserved in accordance with the law.

Always mention the source when reproducing our drawings.



BT- Fluted grip knobs 2/2

BT-p
BT-SST-p
4
| © { e} 5
6
7
L
8
BT-p 5
BT-p Code Description D deg L di d2 | I §2
- 6744 BT32p-M6x20 32 M6 22 17 21 20 9 18| 10
Code Description D dg L & & | & 83| |k BraopMex30 32 M6 22 17 21 30 9 18
6301 BT12p-M2x6 12 M2 11595 6 6 4 5 6753 BT32p-M8x16 32 M8 22 17 21 16 9 18| 1
6303 BT12p-M2x14 12 M2 11595 6 14 4 8 6754  BT32p-M8x20 32 M8 22 17 21 20 9 20
6305 BT12p-M25x6 12 M25 11595 6 6 4 7 6755 BT32p-M825 32 M8 22 17 21 25 9 21| ™2
6307 BT12p-M25x14 12 M25 11595 6 14 4 10 6756 BT.32p-M830 32 M8 22 17 21 30 9 22
6337  BT12p-M3x6 12 M3 11595 6 6 4 5 6758 BT32p-M840 32 M8 22 17 21 40 9 26| 13
6338 BT12p-M3xl0 12 M3 11595 6 10 4 5 6763  BT32p-MIOx20 32 MIO 22 17 21 20 9 26
6339 BTI2p-M3xl6 12 M3 11595 6 16 4 4 6764 BT.32p-MIOx25 32 MIO 22 17 21 25 9 25 4
6340 BT12p-M4x6 12 M4 11595 6 6 4 3 6765 BT32p-M10x30 32 MIO 22 17 21 30 9 30
6341 BTI2p-M4x10 12 M4 11595 6 10 4 4 6768 BT32p-MIOX40 32 MIO 22 17 21 40 9 35 ™
6342  BT12p-M4xl6 12 M4 11595 6 16 4 4 6833  BT40p-M10x30 40 MO 27 19 25 30 13 40
6343  BT12p-M5x10 12 M5 11595 6 10 4 4 6883 BT50p-MIOx30 50 MIO 28522 31 30 135 45| 6
6344  BT12p-M5xl6 12 M5 11595 6 16 4 6 6881  BT.50p-M10x40 50 MI0 285 22 31 40 135 44
6347  BT.16p-M3x6 6 M3 13 11 9 6 5 5 17
6348 BTI6PM3x0 16 M3 13 11 9 10 5 5[ prggry STAINLESS STEEL
6349 BT16p-M3xl6 16 M3 13 11 9 16 5 5 i3
6350  BT16p-Mdx6 6 M4 1311 9 6 5 5 Code Description D dg L cdi d2 | 2 82
6351 BT16p-M4xI0 16 M4 13 11 9 10 5 4 106337 BT12-SST-p-M3x6 12 M311595 6 6 4 4| 19
6356 BT16p-M4xl6 16 M4 13 11 9 16 5 5 106338 BT12-SST-p-M3x10 12 M311595 6 10 4 5
6361 BT16pM4x20 16 M4 13 11 9 20 5 5 106339 BT12-SST-p-M3x16 12 M311595 6 16 4 4| 20
6366 BT16p-M4x30 16 M4 13 11 9 30 5 4 106340 BT16-SST-p-M3x6 16 M3 13 11 9 6 5 4
6371 BT16p-M5x10 16 M5 13 11 9 10 5 5 106341 BT16-SST-p-M3x10 16 M3 13 11 9 10 5 4| 2
6376  BT16p-M5x16 16 M5 13 11 9 16 5 6 106342 BT16-SST-p-M3x16 16 M3 13 11 9 16 5 4
6378 BT16p-M5x25 16 M5 13 11 9 25 5 5 106350 BT16-SST-p-M4x6 16 M4 13 11 9 6 5 5[ 22
6541 BT20p-M5x10 20 M5 15 115 11 10 6 6 106351 BT16-SST-p-M4x10 16 M4 13 11 9 10 5 5
6546 BT20p-M5x16 20 M5 15 115 11 16 6 7 106356 BT16-SST-p-M4xl6 16 M4 13 11 9 16 5 5| 2
6548 BT20p-M5x20 20 M5 15 115 11 20 6 8 106361  BT16-SST-p-M5x10 16 M5 13 11 9 10 5 5
6551 BT20p-M5x25 20 M5 15 115 11 25 6 8 106362 BT16-SST-p-M5x16 16 M5 13 11 9 16 5 5
6554 BT20p-M5x40 20 M5 15 115 11 40 6 9 106364 BT16-SST-p-M5x25 16 M5 13 11 9 25 5 5 N
6571 BT20p-M6xI0 20 M6 15 115 11 10 6 7 106541 BT.20-SST-p-M5x10 20 M5 15 115 11 10 6 6 @
6576 BT20p-Méxl6 20 M6 15 115 11 16 6 9 106542 BT.20-SST-p-M5x16 20 M5 15 115 11 16 6 7 e
6578 BT20p-M6x20 20 M6 15 115 11 20 6 10 106544 BT.20-SST-p-M5x25 20 M5 15 115 11 25 6 7 =
6581 BT20p-M6x25 20 M6 15 115 11 25 6 10 106551  BT.20-SST-p-M6x10 20 M6 15 115 11 10 6 6 &
6586 BT20p-M6x30 20 M6 15 115 11 30 6 11 106552 BT.20-SST-p-M6x16 20 M6 15 115 11 16 6 7 g
6591 BT20p-M6x40 20 M6 15 115 11 40 6 12 106553  BT.20-SST-p-M6x20 20 M6 15 115 11 20 6 7 S
6638 BT25p-M6xI0 26 M6 19 16 15 10 8 11 106554  BT20-SST-p-M6x25 20 M6 15 115 11 25 6 9 O
6641  BT25p-M6x16 26 M6 19 16 15 16 8 12 106555  BT20-SST-p-M6x30 20 M6 15 115 11 30 6 9
6643 BT25p-M6x20 26 M6 19 16 15 20 8 13 106642  BT25-SST-p-Méxl6 26 M6 19 16 15 16 8 12
6646  BT25p-M6x25 26 M6 19 16 15 25 8 14 106644  BT25-SSTp-M6x20 26 M6 19 16 15 20 8 13
6647 BT25p-M6x30 26 M6 19 16 15 30 8 15 106645 BT25-SST-p-M6x25 26 M6 19 16 15 25 8 13
6649  BT25pMexs0 26 M6 19 16 15 50 8 21 106647  BT25-SST-p-M6x30 26 M6 19 16 15 30 8 15
6661  BT25p-M8x16 26 M8 19 16 15 16 8 15 106752  BT32-SST-p-M816 32 M8 22 17 21 16 9 19
6666  BT25p-M8&25 26 M8 19 16 15 25 8 18 106754  BT32-SST-p-M8x20 32 M8 22 17 21 20 9 20
6743 BT32p-M6xI6 32 M6 22 17 21 16 9 18 106757 BT.32-SST-p-M8x30 32 M8 22 17 21 30 9 23
LS an CONTER ot sl e eserved naccorte e v A e, Ganter 2



